© Brazilian Statistical Association, 2013

# Precise asymptotics for products of sums and U-statistics

#### **Zhongquan Tan**

Zunyi Normal College and Soochow University

**Abstract.** Let  $\{X, X_i, i \geq 1\}$  be a sequence of independent and identically distributed positive random variables with  $E(X) = \mu > 0$ ,  $Var(X) < \infty$ . Put  $S_n = \sum_{i=1}^n X_i$  and let g(x) be a positive and differentiable function defined on  $(0, +\infty)$  satisfying some mild conditions. We prove that, for any s > 1,

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=1}^{\infty} g'(n) P\left\{ \left| \log \left( \prod_{i=1}^{n} \frac{S_{j}}{j\mu} \right) \right| \ge \varepsilon \sqrt{n} g^{s}(n) \right\} = E|N|^{1/s},$$

where N is a standard normal random variable. This result was also extended to product of U-statistics.

#### 1 Introduction

Let  $\{X, X_i, i \geq 1\}$  be a sequence of independent and identically distributed (i.i.d.) random variables (r.v.),  $S_n = \sum_{i=1}^n X_i, n \geq 1$ . Many authors discussed the precise rate and limit value of  $\sum_{n=1}^{\infty} \varphi(n, \varepsilon) P\{|S_n| \geq \varepsilon g(n)\}$  as  $\varepsilon \downarrow a, a \geq 0$ , where  $\varphi(n, \varepsilon)$  and g(n) are positive functions defined on  $[0, \infty)$ . We call  $\varphi(\cdot, \cdot)$  and  $g(\cdot)$  weight function and boundary function, respectively. The first result was due to Heyde (1975), who proved that

$$\lim_{\varepsilon \downarrow 0} \varepsilon^2 \sum_{n=1}^{\infty} P\{|S_n| \ge \varepsilon n\} = EX^2,$$

if EX = 0 and  $EX^2 < \infty$ . Later, Gut and Spăataru (2000a, 2000b) studied this type of asymptotic result in the Baum–Katz (1965) and Davis (1968) law of large numbers and in the law of the iterated logarithm and called it precise asymptotics. The following precise asymptotics in the Davis (1968) law of large numbers are cited from Gut and Spătaru (2000a). During the entire text, N denotes a standard normal random variable.

**Theorem A.** Suppose that EX = 0 and  $EX^2 = \sigma^2 < \infty$ , then for  $1 \le p < \delta < 2$  we have

$$\lim_{\varepsilon \downarrow 0} \varepsilon^{2(\delta-p)/(2-p)} \sum_{n \geq 1} n^{\delta/p-2} P\{|S_n| \geq \varepsilon n^{1/p}\} = \frac{p\sigma^{2(\delta-p)/(2-p)}}{\delta-p} E|N|^{2(\delta-p)/(2-p)}.$$

*Key words and phrases.* Precise asymptotics, product of partial sums, U-statistics. Received October 2009; accepted March 2011.

**Theorem B.** Suppose that EX = 0 and  $EX^2 = \sigma^2 < \infty$ , then for  $0 \le \delta \le 1$  we have

$$\lim_{\varepsilon \downarrow 0} \varepsilon^{2\delta+2} \sum_{n \ge 1} n^{(\log n)^2/n} P\{|S_n| \ge \varepsilon \sqrt{n \log n}\} = \frac{\sigma^{2\delta+2}}{\delta+1} E|N|^{(2\delta+2)}.$$

Recently, Cheng and Wang (2005) extended Theorems A and B to the more general case when the underling distribution is in the domain of attraction of a stable law with index in (0, 2]. They also discussed the general weight functions and boundary functions. Based on the result of Gut (2002), Wang and Yang (2003) studied more general weight functions and boundary functions of this type of precise asymptotics for record times (cf. Gut (2002) for the definition).

In this paper, the aim is to extend the above theorems to product of partial sums and U-statistics, and to get the corresponding results for more general weight functions and boundary functions. As direct conclusions, several similar results to Theorems A and B were obtained. Before providing the main results, let us review the history of the product of partial sums and U-statistics.

While considering limiting properties of sums of records (cf. Arnold and Villasenor (1998) for the definition), Arnold and Villasenr (1998) obtained the following version of the central limit theorem (CLT) for a sequence  $\{X, X_i, i \geq 1\}$  of i.i.d. exponential random variables with the mean equal to 1:

$$\left(\frac{\prod_{k=1}^{n} S_k}{n!}\right)^{1/\sqrt{n}} \stackrel{d}{\to} e^{\sqrt{2}N}.$$
 (1.1)

Later Rempala and Wesoaowski (2002) extended such a CLT to general i.i.d. positive r.v. and obtained the following result.

**Theorem C.** Let  $\{X, X_i, i \ge 1\}$  be i.i.d. positive random variables with  $E(X_1) = \mu > 0$  and  $Var(X_1) = \sigma^2 < \infty$ . Denote by  $S_n = \sum_{i=1}^n X_i$  and  $\gamma = \sigma/\mu$  the coefficient of variation. Then

$$\left(\frac{\prod_{k=1}^{n} S_k}{n! \mu^n}\right)^{1/(\gamma \sqrt{n})} \stackrel{d}{\to} e^{\sqrt{2}N}.$$
 (1.2)

This result was extended by Qi (2003), Lu and Qi (2004) to a general case when the underling distribution is in the domain of attraction of a stable law with index in Arnold and Villasenor (1998) and Baum and Katz (1965). For more general result, we refer to Rempala and Wesolowski (2005), Zhang and Huang (2007), Matula and Stepien (2008, 2009).

However, this type of CLT also can be extended to U-statistics. Corresponding to a symmetric kernel function h (cf. Serfling (1980) for the definition), the U-statistic is defined as follows

$$U_n = \frac{1}{\binom{n}{m}} \sum_{1 \le i_1 < \dots < i_m \le n} h(X_{i_1}, X_{i_2}, \dots, X_{i_m}), \tag{1.3}$$

where the summation is over all distinct combination of m elements from  $\{1, \ldots, n\}$ , the  $(X_i)$  are i.i.d. positive random variables.

Denote  $h_1(x_1) = Eh(x_1, X_2, ..., X_m)$  and  $\varsigma_1 = Var(h_1(X_1))$ . It is a known result (see, e.g., Serfling (1980), p. 192) that if  $Eh^2(X_1, X_2, ..., X_m) < \infty$  and  $\varsigma_1 > 0$ , then

$$n^{1/2}(U_n - \mu') \stackrel{d}{\rightarrow} N$$
,

where  $\mu' = E(h(X_1, X_2, ..., X_m)).$ 

Rempala and Wesoaowski (2002) extended Theorem C to U-statistics and obtained the following theorem.

**Theorem D.** Let  $U_n$  be a statistics given by (1.3) and denote by  $\gamma' = \sqrt{\zeta_1}/\mu'$  the coefficient of variation. Assume that  $P(h(X_1, ..., X_m) > 0) = 1$ ,  $\zeta_1 > 0$ . Then

$$\left(\prod_{k=m}^n \frac{U_k}{\mu'}\right)^{1/(m\gamma'\sqrt{n})} \stackrel{d}{\to} e^{\sqrt{2}N}.$$

In this paper, based on Theorems C and D, the precise asymptotics for products of sums and U-statistics will be considered. The paper is organized as follows. Section 2 displays the two main results, Sections 3 and 4 prove the two main results, respectively.

#### 2 Main results

The main results read as follows.

**Theorem 2.1.** Let  $\{X, X_i, i \ge 1\}$  be a sequence of i.i.d. positive random variables with  $E(X) = \mu > 0$ ,  $Var(X) = \sigma^2 < \infty$ . Put  $S_n = \sum_{i=1}^n X_i$  and let g(x) be a positive and differentiable function defined on  $(0, +\infty)$ . Suppose that the following conditions are satisfied:

- (A1)  $g(x) \uparrow \infty$ , as  $x \to \infty$ ;
- (A2) g'(x) is monotone on  $[1, +\infty)$ ;
- (A3) if is g'(x) is monotone nondecreasing, we assume that  $\lim_{x\to\infty} \frac{g'(x+1)}{g'(x)} = 1$ . Then for any s > 1, we have

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=1}^{\infty} g'(n) P\left\{ \left| \log \left( \prod_{j=1}^{n} \frac{S_j}{j\mu} \right) \right| \ge \varepsilon \sqrt{n} g^s(n) \right\} = E|N|^{1/s}. \tag{2.1}$$

**Remark 2.1.** The conditions on g(x) were first introduced by Cheng and Wang (2004). More general conditions on weighted function and boundary function, one can find in Wang and Yang (2003).

In Theorem 2.1, let  $g(x) = x^{(\delta - p)/(2p)}$ ,  $s = \frac{2-p}{\delta - p}$ , where 0 , we have

**Corollary 2.1.** For 0 , then

$$\lim_{\varepsilon \to 0} \varepsilon^{(\delta - p)/(2 - p)} \sum_{n = 1}^{\infty} n^{(\delta - 3p)/(2p)} P\left\{ \left| \log \left( \prod_{j = 1}^{n} \frac{S_j}{j\mu} \right) \right| \ge \varepsilon n^{1/p} \right\} = E|N|^{(\delta - p)/(2 - p)}.$$

In Theorem 2.1, let  $g(x) = (\log x)^{\delta+1}$ ,  $s = \frac{1}{2(\delta+1)}$ , where  $-1 < \delta < -\frac{1}{2}$ , we have

**Corollary 2.2.** *For*  $-1 < \delta < -\frac{1}{2}$ , *then* 

$$\lim_{\varepsilon \to 0} \varepsilon^{2\delta + 2} \sum_{n=1}^{\infty} \frac{(\log n)^{\delta}}{n} P\left\{ \left| \log \left( \prod_{j=1}^{n} \frac{S_j}{j\mu} \right) \right| \ge \varepsilon \sqrt{n \log n} \right\} = \frac{E|N|^{2\delta + 2}}{\delta + 1}.$$

In Theorem 2.1, let  $g(x) = (\log \log x)^{\delta+1}$ ,  $s = \frac{1}{2(\delta+1)}$ , where  $-1 < \delta < -\frac{1}{2}$ , we have

Corollary 2.3. For  $-1 < \delta < -\frac{1}{2}$ , then

$$\lim_{\varepsilon \to 0} \varepsilon^{2\delta + 2} \sum_{n=1}^{\infty} \frac{(\log \log n)^{\delta}}{n \log n} P\left\{ \left| \log \left( \prod_{j=1}^{n} \frac{S_{j}}{j\mu} \right) \right| \ge \varepsilon \sqrt{n \log \log n} \right\} = \frac{E|N|^{2\delta + 2}}{\delta + 1}.$$

The result of Theorem 2.1 can be extended to U-statistics as follows.

**Theorem 2.2.** Let  $U_n$  be a statistics given by (1.3). Assume that  $P(h(X_1, ..., X_m) > 0) = 1$ ,  $\varsigma_1 > 0$ . Let g(x) be a positive and differentiable function defined on  $(0, +\infty)$ . Suppose that the conditions (A1), (A2) and (A3) are satisfied. Then for any s > 1, we have

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=1}^{\infty} g'(n) P\left\{ \left| \log \left( \prod_{j=m}^{n} \frac{U_{j}}{\mu'} \right) \right| \ge \varepsilon m \sqrt{2n} g^{s}(n) \right\} = E|N|^{1/s}. \tag{2.2}$$

### 3 Proof of Theorem 2.1

In this section, the following notations will be used.

Let  $b_{k,n} = \sum_{i=k}^{n} 1/i$  and  $s_{k,n} = (\sum_{i=1}^{k} b_{i,n}^2)^{1/2}$  for  $k \le n$  with  $b_{k,n} = 0$  if k > n. Furthermore, let  $Z_i = \frac{X_i - \mu}{\sigma}$ ,  $i = 1, 2, \ldots$ . Define a triangular array  $Y_{1,n}, Y_{2,n}, \ldots, Y_{n,n}$  as  $Y_{k,n} = b_{k,n} Z_k$  and set  $S_{k,n} = \sum_{i=1}^{k} Y_{i,n}$  for  $1 \le k \le n$ . From Gonechigdanzan and Rempala (2006), we have

$$s_{n,n}^2 = 2n - b_{1,n}, S_{n,n}/s_{n,n} \xrightarrow{d} N, \quad \text{as } n \to \infty.$$
 (3.1)

Setting  $T_n = \frac{1}{\gamma} \log(\prod_{j=1}^n \frac{S_j}{\mu j})$  and notice that  $\log(1+x) = x + \frac{\theta}{2}x^2$  as |x| < 1, where  $\theta \in (-1,0)$ , then

$$T_{n} = \frac{1}{\gamma} \sum_{j=1}^{n} \log \frac{S_{j}}{\mu j}$$

$$= \frac{1}{\gamma} \sum_{j=1}^{n} \left( \frac{S_{j}}{\mu j} - 1 \right) + \frac{1}{\gamma} \sum_{j=1}^{n} \frac{\theta_{j}}{2} \left( \frac{S_{j}}{\mu j} - 1 \right)^{2}$$

$$= S_{n,n} + \frac{1}{\gamma} \sum_{j=1}^{n} \frac{\theta_{j}}{2} \left( \frac{S_{j}}{\mu j} - 1 \right)^{2}$$

$$=: S_{n,n} + R_{n}.$$

In order to prove the theorem, we need to know the convergence rate of the remainder term  $R_n$ . As usual,  $a_n \ll b_n$  means  $\limsup_{n\to\infty} |a_n/b_n| < +\infty$ .

**Lemma 3.1.** Under the conditions of Theorem 2.1, we have  $E|R_n| \ll \log n$ .

Proof.

$$E|R_n| = E \left| \frac{1}{\gamma} \sum_{j=1}^n \frac{\theta_j}{2} \left( \frac{S_j}{\mu j} - 1 \right)^2 \right|$$

$$\ll \sum_{j=1}^n E \left( \frac{S_j}{\mu j} - 1 \right)^2$$

$$\ll \sum_{j=1}^n \frac{1}{j} \ll \log n.$$

$$(3.2)$$

The proof of Theorem 2.1 is via the following four propositions. Let *C* denote positive constants whose values may vary from place to place.

**Proposition 3.1.** For any s > 1, we have

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=1}^{\infty} g'(n) P\{|N| \ge \varepsilon g^s(n)\} = E|N|^{1/s}. \tag{3.3}$$

**Proof.** Let  $y = \varepsilon g^s(x)$ , for any constant  $C \in (0, \infty)$  we have

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \int_{C}^{\infty} g'(x) P\{|N| \ge \varepsilon g^{s}(x)\} dx$$

$$= \lim_{\varepsilon \to 0} \frac{1}{s} \int_{\varepsilon g^{s}(C)}^{\infty} y^{1/s - 1} P\{|N| \ge y\} dy$$
(3.4)

$$= \frac{1}{s} \int_0^\infty y^{1/s - 1} P\{|N| \ge y\} dy$$
$$= E|N|^{1/s}.$$

Using (A2) and (A3), we can prove that

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \int_{1}^{\infty} g'(x) P\{|N| \ge \varepsilon g^{s}(x)\} dx$$

$$\le \lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=1}^{\infty} g'(n) P\{|N| \ge \varepsilon g^{s}(n)\}$$

$$\le \lim_{\varepsilon \to 0} \varepsilon^{1/s} \int_{0}^{\infty} g'(x) P\{|N| \ge \varepsilon g^{s}(x)\} dx.$$
(3.5)

In fact, if g'(x) is monotone nonincreasing, (3.5) holds obviously; if g'(x) is monotone nondecreasing, by  $\lim_{x\to\infty}\frac{g(x+1)}{g(x)}=1$ , for any  $\delta>0$  there exists a positive integer  $N_0$  such that  $x>N_0$ , we have  $g'(x)<(1+\delta)g'(x-1)$ , therefore

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=1}^{\infty} g'(n) P\{|N| \ge \varepsilon g^{s}(n)\}$$

$$= \lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=N_{0}+1}^{\infty} g'(n) P\{|N| \ge \varepsilon g^{s}(n)\}$$

$$\le (1+\delta) \lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n=N_{0}+1}^{\infty} g'(n-1) P\{|N| \ge \varepsilon g^{s}(n)\}$$

$$\le (1+\delta) \lim_{\varepsilon \to 0} \varepsilon^{1/s} \int_{N_{0}}^{\infty} g'(x) P\{|N| \ge \varepsilon g^{s}(x)\} dx.$$

Let  $\delta \downarrow 0$ , we get the right inequality in (3.5), similarly, the left one in (3.5) is valid. And (3.3) follows by (3.4) and (3.5).

In the following propositions, we will denote  $a(\varepsilon) = g^{-1}(M\varepsilon^{-1/s})$ , M > 0, and  $g^{-1}(x)$  is the inverse function of g(x).

**Proposition 3.2.** For any M > 0, we have

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n \le a(\varepsilon)} g'(n) |P\{|T_n| \ge \varepsilon \sqrt{2n} g^s(n)\} - P\{|N| \ge \varepsilon g^s(n)\}| = 0.$$
 (3.6)

Proof. Let

$$\Delta_n = \sup_{x} |P(|T_n| \ge \sqrt{2n}x) - P(|N| \ge x)|.$$

By (1.2), we have

$$\frac{T_n}{\sqrt{2n}} \stackrel{d}{\longrightarrow} N,$$

then

$$\frac{|T_n|}{\sqrt{2n}} \xrightarrow{d} |N|.$$

By the continuity of  $\Psi(x) = P(|N| \ge x)$ , we have  $\lim_{n\to\infty} \Delta_n = 0$ . Note that

$$\sum_{n \le a(\varepsilon)} g'(n) \approx \int_1^{a(\varepsilon)} g'(x) \, dx \approx g(a(\varepsilon)) = M \varepsilon^{-1/s},$$

where  $A(x) \approx B(x)$  means that there exist positive constants  $C_1 < C_2$  such that  $C_1 A(x) \le B(x) \le C_2 A(x)$ . Thus, we have

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n \le a(\varepsilon)} g'(n) |P\{|T_n| \ge \varepsilon \sqrt{2n} g^s(n)\} - P\{|N| \ge \varepsilon g^s(n)\}|$$

$$\le \lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n \le a(\varepsilon)} g'(n) \Delta_n = 0.$$

**Proposition 3.3.** For any s > 1, we have

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|N| \ge \varepsilon g^{s}(n)\} = 0.$$
 (3.7)

**Proof.** At first, by a similar argument as in that of Proposition 3.1, we have the following relations between the integral and the series.

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n \ge a(\varepsilon) + 1} g'(n) P\{|N| \ge \varepsilon g^{s}(n)\}$$

$$\le \lim_{\varepsilon \to 0} C \varepsilon^{1/s} \int_{a(\varepsilon)}^{\infty} g'(x) P\{|N| \ge \varepsilon g^{s}(x)\} dx.$$
(3.8)

By (3.8) and Markov inequality, we have

$$\lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|N| \ge \varepsilon g^{s}(n)\} \le \lim_{\varepsilon \downarrow 0} C \varepsilon^{1/s} \int_{a(\varepsilon)}^{\infty} g'(x) P\{|N| \ge \varepsilon g^{s}(x)\} dx$$

$$\le \lim_{\varepsilon \downarrow 0} C \varepsilon^{1/s} \int_{a(\varepsilon)}^{\infty} g'(x) \varepsilon^{-2} g^{-2s}(x) dx$$

$$= \lim_{\varepsilon \downarrow 0} C \varepsilon^{1/s - 2} g^{-2s + 1}(a(\varepsilon))$$

$$= C M^{-2s + 1}$$

The result follows by letting  $M \to \infty$ .

**Proposition 3.4.** For any s > 1, we have

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|T_n| \ge \varepsilon \sqrt{2n} g^s(n)\} = 0.$$
 (3.9)

**Proof.** Note that  $T_n = S_{n,n} + R_n$ , we have

$$P\{|T_n| \ge \varepsilon \sqrt{2n}g^s(n)\} \le P\{|S_{n,n}| \ge \frac{\varepsilon}{2}\sqrt{2n}g^s(n)\} + P\{|R_n| \ge \frac{\varepsilon}{2}\sqrt{2n}g^s(n)\}.$$

Therefore in order to show (3.9), it suffices to show that

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|S_{n,n}| \ge \varepsilon \sqrt{2n} g^s(n)\} = 0$$
 (3.10)

and

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|R_n| \ge \varepsilon \sqrt{2n} g^s(n)\} = 0.$$
 (3.11)

By (3.8), (3.1) and Markov inequality, we have

$$\lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|S_{n,n}| \ge \varepsilon \sqrt{2n} g^{s}(n)\}$$

$$\leq \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) \frac{2n - b_{1}}{\varepsilon^{2} 2n g^{2s}(n)}$$

$$\leq \lim_{\varepsilon \downarrow 0} C \varepsilon^{1/s} \int_{a(\varepsilon)}^{\infty} g'(x) \varepsilon^{-2} g^{-2s}(x) dx$$

$$= \lim_{\varepsilon \downarrow 0} C \varepsilon^{1/s - 2} g^{-2s + 1}(a(\varepsilon))$$

$$= C M^{-2s + 1}$$

and (3.10) follows by letting  $M \to \infty$ . Similarly, by (3.8), (3.2) and Markov inequality, we have

$$\lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|R_n| \ge \varepsilon \sqrt{2n} g^s(n)\}$$

$$\le \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) \frac{\log n}{\varepsilon \sqrt{2n} g^s(n)}$$

$$\le \lim_{\varepsilon \downarrow 0} C \varepsilon^{1/s} \int_{a(\varepsilon)}^{\infty} g'(x) \varepsilon^{-1} x^{-1/2} g^{-s}(x) \log x \, dx$$

$$\le \lim_{\varepsilon \downarrow 0} C \varepsilon^{1/s - 1} g^{-s + 1}(a(\varepsilon))$$

$$= C M^{-s + 1},$$

and (3.11) follows by letting  $M \to \infty$ .

### 4 Proof of Theorem 2.2

Define the projection of the U-statistic  $U_n$  as

$$\widehat{U}_n = \frac{m}{n} \sum_{i=1}^n h_1(X_i) - (m-1)\mu'.$$

Note that it is exactly a sum of an i.i.d. random variables. Put  $J_n = U_n - \widehat{U}_n$ . It is known (Serfling (1980), p. 189) that if  $Eh^2(X_1, \dots, X_m) < \infty$ ,

$$EJ_n^2 = O(n^{-2}) \quad \text{as } n \to \infty. \tag{4.1}$$

In this section, we will use the notations defined in the beginning of Section 3. We only change the definition of  $Z_i$  to  $Z_i = \frac{h_1(X_i) - \mu'}{\sqrt{s_1}}, i = 1, 2, \dots$  Similar to Section 3, we also can obtain (3.1).

Now, setting  $W_n = \frac{1}{\gamma'} \sum_{j=m}^n \log \frac{U_j}{\mu'}$ . Similarly,

$$W_{n} = \frac{1}{\gamma'} \sum_{j=m}^{n} \log \frac{U_{j}}{\mu'}$$

$$= \frac{1}{\gamma'} \sum_{j=m}^{n} \left(\frac{U_{j}}{\mu'} - 1\right) + \frac{1}{\gamma'} \sum_{j=m}^{n} \frac{\theta_{j}}{2} \left(\frac{U_{j}}{\mu'} - 1\right)^{2}$$

$$= \frac{1}{\gamma'} \sum_{j=m}^{n} \left(\frac{\widehat{U}_{j}}{\mu'} - 1\right) + \frac{1}{\gamma'} \sum_{j=m}^{n} \frac{J_{j}}{\mu'} + \frac{1}{\gamma'} \sum_{j=m}^{n} \frac{\theta_{j}}{2} \left(\frac{U_{j}}{\mu'} - 1\right)^{2}$$

$$= \frac{1}{\gamma'} \sum_{j=1}^{n} \left(\frac{\sum_{k=1}^{j} h_{1}(X_{k})}{\mu' j} - 1\right) - \frac{1}{\gamma'} \sum_{j=1}^{m-1} \left(\frac{\sum_{k=1}^{j} h_{1}(X_{k})}{\mu' j} - 1\right)$$

$$+ \frac{1}{\gamma'} \sum_{j=m}^{n} \frac{J_{j}}{\mu'} + \frac{1}{\gamma'} \sum_{j=m}^{n} \frac{\theta_{j}}{2} \left(\frac{U_{j}}{\mu'} - 1\right)^{2}$$

$$=: S_{n,n} - Q_{n,1} + Q_{n,2} + Q_{n,3}.$$

For  $Q_{n,1}$ ,

$$E|Q_{n,1}|^2 = O(1).$$
 (4.2)

For  $Q_{n,2}$ , By (4.1), we have

$$E|Q_{n,2}| \ll \sum_{j=m}^{n} E|J_j| \le \sum_{j=m}^{n} (E|J_j|^2)^{1/2} \ll \sum_{j=m}^{n} (j^{-2})^{1/2} \le \log n.$$
 (4.3)

For  $Q_{n,3}$ , by Lemma A in Serfling (1980), p. 185, we have

$$E|Q_{n,3}| \ll \sum_{j=m}^{n} E(U_j - \mu')^2 \ll \sum_{j=m}^{n} \frac{1}{j} \ll \log n.$$
 (4.4)

The proof of Theorem 2.2 is via Propositions 3.1, 3.3 and the following two propositions.

**Proposition 4.1.** For any M > 0, we have

$$\lim_{\varepsilon \to 0} \varepsilon^{1/s} \sum_{n \le a(\varepsilon)} g'(n) \left| P\left\{ |W_n| \ge \varepsilon m \sqrt{2n} g^s(n) \right\} - P\left\{ |N| \ge \varepsilon g^s(n) \right\} \right| = 0. \quad (4.5)$$

**Proof.** Similar to Proposition 3.2.

**Proposition 4.2.** For any s > 1, we have

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|W_n| \ge \varepsilon m \sqrt{2n} g^s(n)\} = 0.$$
 (4.6)

**Proof.** Note that  $W_n = S_{n,n} - Q_{n,1} + Q_{n,2} + Q_{n,3}$ , we have

$$P\{|W_n| \ge \varepsilon m\sqrt{2n}g^s(n)\}$$

$$\le P\{S_{n,n} \ge \frac{\varepsilon}{4}m\sqrt{2n}g^s(n)\} + P\{Q_{n,1} \ge \frac{\varepsilon}{4}m\sqrt{2n}g^s(n)\}$$

$$+ P\{Q_{n,2} \ge \frac{\varepsilon}{4}m\sqrt{2n}g^s(n)\} + P\{Q_{n,3} \ge \frac{\varepsilon}{4}m\sqrt{2n}g^s(n)\}.$$

Therefore in order to show (4.6), it suffices to show that

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|S_{n,n}| \ge \varepsilon m \sqrt{2n} g^s(n)\} = 0, \tag{4.7}$$

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|Q_{n,1}| \ge \varepsilon m \sqrt{2n} g^s(n)\} = 0, \tag{4.8}$$

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|Q_{n,2}| \ge \varepsilon m \sqrt{2n} g^s(n)\} = 0$$
 (4.9)

and

$$\lim_{M \to \infty} \lim_{\varepsilon \downarrow 0} \varepsilon^{1/s} \sum_{n > a(\varepsilon)} g'(n) P\{|Q_{n,3}| \ge \varepsilon m \sqrt{2n} g^s(n)\} = 0.$$
 (4.10)

Then, along the same lines as those of the proofs of Proposition 3.4, these results can be obtained by using (3.1), (4.2), (4.3) and (4.4).

# Acknowledgments

The author would like to express his deep gratitude to the referees for the detailed and constructive comments on the previous version of this article.

# References

Arnold, B. C. and Villasenor, J. A. (1998). The asymptotic distribution of sums of records. *Extremes* **1**, 351–363. MR1814709

- Baum, L. E. and Katz, M. (1965). Convergence rates in the law of large numbers. *Transactions of the American Mathematical Society* **120**, 108–123. MR0198524
- Cheng, F. Y. and Wang, Y. B. (2004). Precise asymptotics of partial sums for IID and NA sequences (in Chinese). *Acta Mathematica Sinica, Ser. A* **45**, 965–972. MR2127358
- Davis, J. A. (1968). Convergence rates for the law of the iterated logarithm. *Annals of Mathematical Statistics* **39**, 1479–1485. MR0253411
- Gonchigdanzan, K. and Rempala, G. (2006). A note on the almost sure limit theorem for the product of partial sums. *Applied Mathematics Letters* **19**, 191–196. MR2198407
- Gut, A. (2002). Precise asymptotics for record times and the associated counting process. *Stochastic Processes and Their Applications* **101**, 233–239. MR1931267
- Gut, A. and Spătaru, A. (2000a). Precise asymptotics in the Baum-Katz and Davis law of large numbers. *Journal of Mathematical Analysis and Applications* 248, 233–246. MR1772594
- Gut, A. and Spătaru, A. (2000b). Precise asymptotics in the law of the iterated logarithm. *The Annals of Probability* **28**, 1870–1883. MR1813846
- Heyde, C. C. (1975). A supplement to the strong law of large numbers. *Journal of Applied Probability* **12**, 173–175. MR0368116
- Lu, X. and Qi, Y. (2004). A note on asymptotic distribution of products of sums. *Statistics and Probability Letters* **68**, 407–413. MR2081118
- Matula, P. and Stepien, I. (2008). On the application of strong approximation to weak convergence of products of sums for dependent random variables. *Condensed Matter Physics* **11**, 749–754.
- Matula, P. and Stepien, I. (2009). Weak convergence of products of sums of independent and nonidentically distributed random variables. *Journal of Mathematical Analysis and Applications* 335, 45–54. MR2504439
- Qi, Y. (2003). Limit distributions for products of sums. Statistics and Probability Letters 62, 93–100. MR1965376
- Rempala, G. and Wesolowski, J. (2002). Asymptotics for products of sums and U-statistics. *Electronic Communications in Probability* 7, 47–54. MR1887173
- Rempala, G. and Wesolowski, J. (2005). Asymptotics for products of independent sums with an application to Wishart determinants. Statistics and Probability Letters 74, 129–138. MR2169371
- Serfling, W. (1980). Approximation Theorems of Mathematical Statistics. New York: Wiley. MR0595165
- Wang, Y. B. and Yang, Y. (2003). A general law of precise asymptotics for the counting process of record times. *Journal of Mathematical Analysis and Applications* 286, 753–764. MR2008863
- Zhang, L. and Huang, W. (2007). A note on the invariance principle of the product of sums of random variables. *Electronic Communications in Probability* **12**, 51–56. MR2300214

Department of Mathematics Zunyi Normal College Zunyi 563002 PR China and School of Mathematical Science Soochow University Suzhou, 215006 PR China

E-mail: tzq728@163.com